The Cosine Rule I

é\

REVISE THIS
IS Tt

1 Hereis triangle ABC.

Q'

14 cm 8 cm

A B

Work out the length of AB.
Give your answer to 1 decimal place.

Xz (448 - 2 1ex 8% OS(AL)
X2 263 I
= JI6T- IR
J 16

(Total for Question 1 is 3 marks)

cm

2 Hereistriangle ABC. A

Work out the length of BC.
Give your answer to 1 decimal place.

Xz () +6 - 2x6 %6 x os(SY)
X = 20-301H1
X = J230-F0% ML

DoDam
(Total for Question 2 is 3 marks)
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3 Hereistriangle ABC. B

20 cm 13cm

A
19cm ¢

Work out the size of angle BAC.
Give your answer to 1 decimal place.

cos(x) = 20%\94™= %"
)X 10%x19

(os(x) = O FIFIRAGFI68/Y
+ = cos' (O-33Ra472368Y)

383

(Total for Question 3 is 3 marks)
4 Hereis triangle ABC. B

25¢cm

A 17 cm

20 cm

Work out the size of angle ABC.
Give your answer to 1 decimal place.

cos(x) = 25813120
LR LSRR \F

Cos(x) = O 60wF0583LY
1 = cog’ (O 60WFo58RLY)

SYARS

(Total for Question 4 is 3 marks)
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5 Hereistriangle ABC. C 4.8 cm
¢

13.3cm
A

Work out the length of AC.
Give your answer to 1 decimal place.

Xz 48 1Y T - L 8 x 13 3k s (39)
X 43400212083
= VAT A02LI1R083

11

(Total for Question 5 is 3 marks)

6 Here istriangle ABC. A

10 cm 13cm

14 cm

Work out the size of angle BCA.
Give your answer to 1 decimal place.

Cos(x) = \0™r\4"- \¥"
72 x\0 \&
Ccos(x) = 0-45353 14286
1 = cog (045353 142%6)

630

cm

(Total for Question 6 is 3 marks)
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7 Here is triangle ABC.

A
$em 10 cm
B
9cm
C
Work out the size of angle ABC.
Give your answer to 1 decimal place.
S

cos(x) = 3*+q* —-(o
2x 5%

(0S(xX) = - O 1RSIRSIBS...
* = cog' (- 0-185185185..)

\O0 -+

(Total for Question 7 is 3 marks)

8 Here is triangle ABC. @
B

V6 cm

30°

42 cm

Work out the length of BC.
Give your answer in the form vk, where k is an integer.

= (10) + (4 - 1x 86 < 4T % s (30)
xF= 6 +32- Wx &
= 2R -4
otz 3R - AW X =

cm

(Total for Question 8 is 4 marks)

www.1stclassmaths.com © 1stclassmaths


http://www.1stclassmaths.com/

u ’ r@ @1stclassmaths

9 ABCO is a sector with centre O.

A C
5 9
24 cm \5

o)
D is the point on OC so that OD : DC =5:3
AO =24 cm
AD =36 cm

Work out the area of the sector.
Give your answer to 1 decimal place.

OC= LY
WS+ =3
Sx 3=\ (oD)

122z 9 (D)

cos(x)= 24 +18*— 36"
PRPL ALY

Area = 1334 ymx
ws(x\= - 06835 $60

x = cos™ (-068%5)

= 134320566 (30F

(Total for Question 9 is 5 marks)
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10 ABCD is a trapezium with AB parallel to CD.

A 7cm B
X
J 14 cm
15¢cm
X
D 20 cm ¢

Work out the length of line AD.
Give your answer to 1 decimal place.

cos(x) = \oF+ -y
2x15x20

cos(xy= O XS
x = cog' (0-HS)
3 = 44 3 S680084%
P\YU\& RO = Mj\e. ARD ag +ke3 afre
a\ter nore ano) £

grs FEAET- WxF xS x ws(44-3 )

\31: \ L3RS

Y = J123-85

Y = 1283149 \
A%

(Total for Question 10 is 5 marks)

R
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11 Boat A and Boat B both leave the Port P at 12pm.

Boat A travels on a bearing of 112° and travels at a constant speed of 16 mph.
Boat B travels on a bearing of 220° and travels at a constant speed of 14 mph.

At 2:30 pm, what is the direct distance between the two boats.

220 -1\2= (OR°

16%2-G = WOmiles
I X2-S = S miles

= Y0 +38 - LXGO XK ES x (05(10%)
X'z 360 24+ SgY
X =360 24FS %Y

60 . :]“ miles

(Total for Question 11 is 5 marks)

7

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7

